kS

B2 AR
KBS R4 o R . 5%
TR
AL100  —RoRHUABIEAR
T8 (T A%2 8 HLM)
ABEAR 1 1,216 - 1,209
ABHEAR 2 1,113 - 1,107
ABEAE 3 943 - 939
ABREAR 4 848 > 842
ABEEARL 5 788 —> 783
7 (CPYERAK2 9 L)
ABEHAR 3 083 974
AR A 4 888 — 880
C ABEARES 828 > 820
ERMLRE R X 2B
ABEARL  (§E) 88 - -88
ABsstAcp 2 (W) ' -6 - -76
AgEAH3 ([RRCIR (HE) 90 - -90
ABAR A (1 BRI () 38 - ~38
 ABEAMS (IHRUIR) () 15 > -15

E—#EA—-511-1/16




E—EA—H11-2,/16

- ki e T =
T8 (FHERHK 2 8 HMMA)
R AR AR 1 576 > 569
BRI AR AR 2 547 > 540
# (FHERER2 9 AME)
BB AR 1 616 — 608
| RRIABEAN 2 587 — 580
IR R O R
1# (14 BRAOER) 452 - 452
T8 (ABEEAH 5 RO ABERNOBE) 40 - 440
1% (15HEE3 0 AMAOHRE) 207 — 207
I3 (ABEAR 5 R ORI ABE R OEE) 195 - 195
I# (18 0HL LOME) - -50 —> -50
g (14 Euwmﬁjﬁsﬁ) 312 — 312
O (lﬁEKﬂS&U%EUA%EKHOJ%A) 300 — 300
I8 (15HME30BUKOEE) 167 — 167
8 (ABEEAR 5 RUKH AL OBE) 155 —> 155
% (18 0B EDHR) -30 - -30




RAES R AT e %

A101 sl ARAon IRI5EIAXETOM  ERISELHUG
ARt 1 1,231 > 1,209 1,209
ABE AR 2 1,160 - 1,138 1,138
At 3 1,121 - 1,098 (BIRR)
ABrEEAo 4 1,229 — 1,204 (HIRR)
A AR 5 1,154 - 1,129 (HURR)
ABEARE 1,100 - 1,076 (BUR)
ARk AkL 7 1,066 — 1,041 (BIRR)
R ABEAR 1 901 - 871 973
BRI Bt A 2 830 —> . 800 902

FIHAANE R O B

3 0 BBAAIOHAR 312 - (HiBR)
18 0 H LD =37 > (HiRR)

E—-EX-Hi1-3/16




XAES e R KB £
A102  EBRBABEAR

ARk 1 1,102 —= 1,101
ABiAR 2. 1,004 — 1,002
ARt 3 862 — 858

- ABR#EAR4 74 — 772
ABrA 5 719 —> 713
ABrEAk 6 651 — 614
Ak A 7 610 - 572

ERELER X RVWEA

AR 1 (FE) -88 —=> -88
ARt 2 () -6 — 76
ARtk 3 (Fs) -90 — -90
AR A 4 () -38 — -38
ABE AR 5 (RE) -15 — -15
ABzEAK 6 (WE) -12 = -12
ARt 7 (FH) -11 - -11

R A B Ak 1 520 —> 485
R A B AL ACk 2 498 - 469

M%Mﬁ&UE%ﬁ%

3 0 ElBLP DHIRg 304 — 300
ABEAR 5. 6. 7T RUKHMABRESHOEE 202 — 240

3 1AL 9 0 LN 80 — 200

9 1 ALl LKA (Bak) - -30

E—EX—-51—-416




RAEE

o

| B kol W HEE =
A103 R A SREAR
ABzEtAck 1 1,047 - 1,037
ARzt 2 949 - 940
AbeEEAoR 3 807 — 800
Aokt 4 719 —> 712
AR A 5 664 — 658
AR Ak 6 596 — 589
ABrEAR 7 555 — 548
ERTHLEE S RVES
ABEE A 1 (FH) -88 — -88
ABEAR 2 (W) -6 — ~76
ARt A8 3 (HE) -0 - -90
ABEEAN 4 (WH) 38 — -38
AR AN 5 (HE) -15 —> -15
AbzdtAckl 6 () -12 - -12
AR st Akt 7 (BE) -11 - -11
A A R ARt 1 465 —> 459
-SRI AR AR 2 443 —> 438
A ME
1 4 HELAOHIR 439 —> 439
ABEAR 5, 6. 7T RUEHIABRERNOBE 427 - 427
15 HELE3 0 HEOHRE 242 —> 242
ABEAR 5, 6. TRUHHAREANOBE 230 — 230
3 1HLLE9 0 HUADHIK 125 — 125
9 1A E 18 0 HUADHARM 40 - 40
- 181BLE1EMAOHRM 25 - 25

E—-EA&R—-31—-5/16




KAES RALH S =B N i
A104  BEiStemB AR |
— AR
I B ARE AR 1 1,216 - 1,209
T B ARSEE AR 2 1,113 - 1,107
T2 AR A 1 1,256 - 1,244
I8 AR A 2 1,153 — 1,142
IIB AR AR 3 995 > 983
SRR
T 3 ARsEAH 1 1,102 - 1,101
I BEAREEAR 2 1,004 - 1,002
it PN B 1,102 - 1,101
ik INCET N 1,004 — - 1,002
O IBEAREARS 874 > 883
PR
I BEARE AR 1 1,047 - 1,037
18 AR AR 2 949 - 940
TTEE AR S 208 1 1,047 — 1,087
TIEEA B Akt 2 949 — 940|
IR ABRE AR 3 819 - 811

BE—EH—31-6.16




E%ﬁ%_. R5&H T T %
ERMLEEHEI VB
—fRes
IBABERR 1 (RE) -88 — -88
THABEAN2 (W5) -6 - -76
THAREAN 1 (RE) 88 >  -88
- HBEAEAR 2 (FE) -6 — -6
IEABRERE 3 (HE) -12 - -12
SR |
I#EAREAR 1 (BR) -88 - -88
CIBEABERR 2 (WD) (T (
I#AREAR 1 (RE) -88 — -88
ITEARERE 2 (W) -6 > -76
ITREABEE AR 3 (WED) -12 = -12
gt
I BHARERR 1 (RE) -88 —> -88
I BHAREAE2 (W) -6 —> -76
IEABSEAN 1 (FH) -88 — -88
HFABEAR 2 (BE) -6 — -76
- II#EABREAS 3 (HH) -12 = -12

E—-EFX—-5I1-7/16




RAES KA EH e ! - %
NS R RN
— DB
IR (14 BUUAOHER) 512 — 512
I# (15HME30HMADH™M) 207 — 207
I# (18 0B EDHAR) -50 — -50
T# (14 BLUAOHIME) 3712 —> 372
8 (1583 0 MADHRE) 167 — 167
T (18 0 HpL LR -30 - -30
HEHEROBE (IHEUIIE)
3 0 BLAADHIRE 33 - 330
31 B9 0RO 80 - 200
9 1 B LosaRg () - ~30
RHEEOBS (1RRCIR)
1 4 AR 499 - 499
1 5FBLE3 0 HLUADHR 242 > 242
3 1 HELE9 O AP DHAR 125 — 125
0 1HME180HMUADHE 40 - 40
18 1HME1ENADHE 25 > 25

E—&A—511-816




RAES | KALH - = . %
A105  HEPSEBIABEAR |

I BABEAR 1 1,216 —= 1,209
- IEBEABEAR 2 1,113 - 1,107
I BEARREAH 3 943 — (HiER)
T BB AR 4 848 > (M)
I BB A 5 788 — (HIBR)
IR 1 1,256 — (Hik)
T1EE A B AR] 2 1,153 - (HIBR)
T BEABEAR S - 983 — (HikX)
TIBEA ekt 4 888 — (HllER)
T ARe Ak 5 828 — (HiER)

EHMILEE S RVEE
I BABEZR 1 (W) -88 — -88
I BAREAR2 () 76 — -6
TBEABSEAK 3 (RHE) -90 - (HIRR)
T BABREAN 4 (W) -38 - (HIBR)
I HARESRS (BE) -15 = (HIER)
IEABEAS 1 () -88 > (HiBR)
IRABRERR2 (WE) -6 —>  (HIER)
IBAREAR S (HE) -90 - (HiER)
 IIBAREAR 4 (BE) =38 = (MR
MBABEARS () -15 = (HIRR)

E—E&K-R1-916




RAES RALH T %
HIHIINE R SR

I8 (14 BUAORE) 452 - 452
I8 (ABEAR 5 DReE) 40 > 440

T8 (15HE30HMAHE) 207 - 207
IR OABEAR 5 OBA) 195 - 195

1% (18 0HMEOHM) 50 - -50

I8 (14 HUAOMRE) 312 - (HIER)
B (ASEARS OBE) 300 — (HIBR)

& (15HLE3 0 HAOHE) 167 - (HIBR)
U8 (ABREAR 5 OBE) 155 - (HIR)

1% (180 HL DHME) -30 - (HIER)

E—E&—F11-10,16




_ T . -
KAES R4 &F T 2 T %
A106  BEEHHEREABRLRH
T BEA A 1 1,216 - (BIER)
T BEARE A 2 1,113 - (HIER)
I BEABREL AR 3 943 > (HIBR)
I B AR 4 848 — (HlRR)
T BEAREAR S 788 —= (HIBR)
T BEABEEAK 1 1,256 — 1,244
1E:YNCH 7 1,153 - 1,142
T ABrEE AR 3 983 — 974
B AR AR 4 888 — 877
B ARE AR 5 828 —> 818
EEMERE S RNBE
TEAREAR 1 (HE) -8 — (HIER)
I BEABTEAR 2 (W) -6 — (BIBR)
I HABEARS (HE) -90 - (HiIER)
I BEARREAR 4 (3R55) -38 = (M)
T BRABREARS (M) -15 - (HIER)
MEAREAN 1 (RE) -88 - -88
IEABREAR 2 (B5E) -6 - -76
MEABRAN S () -90 - -90
IEABEAR 4 () -38 - -38
EABEARS (WE) -15 - -15

E—-EA—-Hl1-11.716




E—EFX—R1—-1216

RHES KA - B T i
NS R B AR

12 (14 HKOHR) 452 > (HIE)
T8 (ABEARE 5 DBE) 40 - (HIER)

T# (15HES 0 HUADHR) 207 —> (HURR)
18 (B4 5 DBHA) 195 — (4IER)

I# (18 0HMUEDHRE) -50 — (BE®) |

# (14 BUAOHRE) 312 —> 312
I8 (ABTEAR 5 DBE) 300 — 300

I8 (16532153 0BMAOERE) 167 - 167
8 (ABEEAR 5 OBE) 155. —> 155

# (18 0B o) -30 > (HIER)




RAHES | | K545 | e E o
A107 £ NFEABE AR ' Z AL Ak
A108 BRI ABRE A

I§
AR 1 | 493 - 489
ARk 2 460 — 456
- AN 3 - B 419 — 415
OII#
ABiEAk 3 385 — 380
L A AR 4 FHE -~ 345
HIR
IR (7 HHHOMHAR) 223 —> 223
TE (SHME1 4 UKD 188 — 188
IR (15BME30EMADHIRE) 85 - 85
I# (3 1HME9 0HUADEE) AT —» 47
11 (7 HUAOHRA) 223 —> 223
I (8 HEE1 4 HEKOMAR) - 188 —> 188
CTIEE (15 ALE3 0 BLUAORI) | 85 — 85
II# (3 1HME9 0 MMM 47 — 47

E—EX—511-13/16




RAES ‘ RAEH T =B I %
A109 - HIRDBIRERRABEAN |
ARz Ak 853 — 816
 RRIABE AR 748 - 11
AN
- THHAOHME 217 = (HiRR)
8HEME1L 4 HYUAOHE 182 - (HiIRX)
1 5H L3 0 HAAROHARS 79 - (HIBR)
3 1AL L9 0 AR 41 — (HIBx)

E—-EA&-31—-14/16




Xa&S : - K53 &H

HEE TR i
. H3f RBEARN
A300  BAEaAbR
| 7 F API DR
R AR 1 9,200 -> 9,190
B AR 2 10,600 — 10,590
SHEM L1 4 HUROHIK .
AR 1 8,000 — 7,990
AR AR 2 9,400 — 9,390
A301 RrEfE iR EER _
7 B RO 8,900 — 8,890
8 HU L 1 4 AR 7,700 - 7,690
A302  HoREEEhEReEmy 8,500 — 8,500
A303 BAEENRTAmREEEN
R - B R Y 7,000 — 7,000
75 IR AR AR TR 8,600 — 8,600
A304 IEEEASEERAREEEY 7,900 - 7,890
A305  —NEYuEAE ABIEREE
7 FLL R DHAR 8,900 — 8,890
. 8HEE1 4 HMADHR 7,700 = 17,690
A306 .= HAEBAREREDN 2,000 - . 1,980

E—EX-5i1—15/16




EAES B AR e %
A307 DRAREREEY
NRABEREEE 1 (Fré%) - 3,000
NRABREREEN 2 FH) - 2,600
MRABEREEE 3 2,100 - 2,100
A308 EHEMUNEUF— 3 L EEARR 1,700 - 1,680
A309  FERBBIERNABDE
R RS 1 2,000 = 1,980
B BRRR AR 2 1,600 — 1,600
A310 By PRIEABE 3,800 - 3,780
A311 HERBEABL (FE&) - 2,800
A311 2 FEumlaliasss AR
R AR A 1 1,650 —= 1,640
R AR R AR 2 1,600 — 1,580
A312  ESrsREpMABDE ,
EREEREEORE 1 1,100 - 1,090
SRR AR 2 800 - 600
A313  EA—BHHARERSE AL AR
A314 ° ENERFSREARRREA B AL ER
A315  ENEHRREREREARE EA LI

E—XX-511—16/16




